aa p=0 Neot  Censerva Live



ABE)  Fo X2
Note [:3 s always
F:oxy) <=L

<112

G n",}e;ﬂ/(‘ Gl

The mlbelTec Xx-y 13 O on J=x vk

grows Qingacly & X 1AC(Ges9

J N
N
Ry NN

"\
\\ \\\\,\\'K‘;\"T'—\*%k
NAAOAN

P> 9« C)y P=/ Ccnsa\/aé{\/é
R~ X-y Ox R =1

z 4= = = X -4 2 -
O P = ——> @Y= XJ )x)+§rd)§:>w
= Y= xy -4y FI)

9} l?': X~j -
==L (X-Y)




(he)  Fe

\ { (X-3)+1y-1*

The dencriinabr is
S
F s alwas  a ot vk,

X@g(iﬁ ok numcfaéf/f/ So

so Aels stvdy <y X~2>

EC’Ca” bhat ("5,0> s 90° ceonbes clack wise
576’" (a/b>,

So (l‘j,X-2> (s ‘/00 ccw re b bra os <%“2,y4>

4

AL goch (x3) diteckmn =6 F s
0?7900141604/:644(' $rem CQ,[)

70° ccw fem

Lace IESEN
/\/017 Consciva Live 5650(450 )r:)éégﬂ l 5 F ’Jl"

Olcfy a poSI’é?Vc‘lg orienked cirele cc«nbem/ ab ( /,2)

[y positivC .



b)

?: < cosYy-XSnY ,

(2,1)

(o)

= g2 j‘l@os(ﬁb)J —aten Tty (TP dE

\

- ggcasﬂ£~—2ﬂ-ﬁ51;37/_t A
0

|
ztcgs(ﬁﬁ{d = "‘2

\\

Tgetity ¥ st E=VY
ax Y- c» Y =5 Y= &&=f 5¢) ? = = Xy
- " — - xcsy -fj(f)
Oy f= -xshy =3 N

S g?-cﬁff [ o0 $e2,m) - Yae)
c C

. =p —g =



3”” CL) Crzen's Eheorem ¢ iﬁPo‘x%&Jj = SJR(QXGZ‘@P)M

/ j 7 i ~enbed conve C
whers R x (cgin 1hside POS/Z,J@ of ient

xdy = (@ ~0) k= Areu(R)
fu= 0 -
P:O =) 9\,?:0
3 N O =v
A’So
§-yor - ﬁ(o (1) 44 = Awu(R)
C
P=-Y _ §P=-I
Q=0 = 3ia=0



3¥%b)

(Xnu?

A= fxdy

As per Ya, J
To Gualvalt Ehe Cmp/eéc— e fnzﬁﬁ(a //
(o Gvaltall

> o é
k , ovG~ &aoh }m[ 5&7’"0“ s
ﬁe(; comp btE I{ Ve

¥ dy
xdy = §+ j"* - *J
jo ’ G & Cn

where C s Line 5@’”5”[\ )
write as 5<@,%>'<J’("}J> = 5(0,X>«Ar
rice

C' -

v CL

frem (X;,%) b (Xf"'yfﬂ>

To Sid J;ij )
r 1 = Xe, Jon o) e 05 6€l
Paramebenze 3 ()= X, 9:0 +b Hon e, I 9) G o

%F(H'—— <x(:.,|’Xg | }';,,‘y&>

1 Ly gt
e J 95}3 = j‘ (X(:-f t(XL'.“"XC)) (Jin HL)
Gy 0
= X (Ynd) T 3 (KgnXe) (Yer~Yc)
= XX (YY)
=

The QGree in Pcbdoh 5

= X
Aa i X_iﬂi(‘ (35+\—yt.) Where Xnﬂ:jl

= yhﬂ ]




¥, )

> )

&er) = /1: j(f)((x,rg),,ﬂs

200 I,

5(r) =

\ L V((a ;15('%"8)?6 + 93¢(rx.ry)3) 4s
Qﬁ X
C
= E(F j -3y BOne, o eram) > -y, X>ds
C

)

oy = =t

s 2i

20 j <‘9d¢”"’“/‘9*
C

21
P=-0y dcxry)
a= ()

= Sj 0x & -3, J
i&

v
digk

gg Oux® + Oy ¥ A

S (~&Jq5(rx./y7/ ax¢((x,f3)> A7
e
qf(fx,/y)> - <JX10!9 7

&

wh \,,,(-l\

By Green's Ehere

L
2N

Bt Oudtoy?= 0 So
¢ censtant

-
P

H@"Cc

$\r)=o.



L‘%C> Seend deriv Eest Says

- Z
L5 ¢)<x¢gy‘ ¢Xj >0 o
TE  der by~ Py <O thon Saddle point

5 O ¢%ﬁ ~ ¢ ;8 =g bLhn rocenclusive,

¢Xx >O Ehen /Qﬂcal MJ):) .

We are  given Chul ¢)<x # @ﬁ =0
T hat 75 T 5 %(X Is nen 26 q%] l\@ CWOS;H
SN Hence weM e @ caddle pant.

UY\ ?crlpvméé(y/ bl\f 6&5{ ma:] Lé/ﬁconofafivt:
as ¢XX may be O )

56@[) Ooéf;V st 37V63 Sac- (BS,?,/)K/

Herce )
bt /S hot Gncog’/l Lo cenclude ¢ has o
focal MATMEES, e

Tt dos 59 it ke ho gwﬂ'aévz/‘b&hwﬂﬁ

a bout o critical paﬁ[‘)’



